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Who would you prefer to
give this talk?
=

r=rAlison
2. Darrh

How many times did Chip
Ramsey swear?

r=nl 38% 38%

Bar2
Bar3

Welcome to sunny

Californial!

+

This is a picture

of D_A.
+

Who did not listen to Dave

Daley because:

r=rAgreed with him

earDisagreed with
him

e<"Were bored

g« Were still
hungover

prActually listened




How many cows do you run?

+

rarSeedstock producer a i
s=nCommercial producer Sy
g<nAllied industry 5
ga"Academic % v
srFeeder/Packer [ e -
6 00-1000
aan>1000

Who are you?

How many bulls do you plan How many bulls do you plan
to purchase this year? to sell this year?

48%
T 22% 22%

ran<10
Ban10-30
Bar31-50
g51-100
gan>100

r=r0
Banl-2
Br3-5
g6-10
gar>10

What is currently used to What is being proposed to
determine EPDs? determine EPDs?

r=rPhenotypes
earPedigrees
sarGenotypes
s<Both 1 & 2
g<rBoth 1 & 3
rBoth 2 & 3
=rAll of the above

r=rPhenotypes
earPedigrees
sarGenotypes
s«Both 1 & 2
g<rBoth 1 & 3
Both 2 & 3
=rAll of the above




What percent of phenotypic
variation do the major genes
Eécount for? 49%

r=0.3%
3%
2230%
g300%

26% 26%

Which is a better RFI value?

+

c=rHigher
sarLower

88%

Who has collected samples from

TLtheir cattle for DNA testing?
r=nYes I have 85%
B<n Not me

If a panel is developed using a
Bos Taurus breed it usually
rks: I

r=rIn only that breed

e<rIn all Bos Taurus
breeds

e<rIn all beef cattle
s<lIn all cattle

Who has heard about DNA
testing for beef cattle?

ran 1 have 190%

e<n I have not

Who has tested their cattle
ijor simple traits?

renYes I have

Examples

« Horned/Polled
« Coat color
« Genetic defects




If you breed a simply inherited carrier cow
(Pp) to a non-carrier bull (PP), what is the
chance that the offspring will have the
recessive phenotysl/ae?

If you breed a simply inherited genetic defect
carrier cow (Dd) to a defect-free bull (DD),
what is the chance that the offspring will
result in the genetic defect?

86%

10

)
Vs (25%)

Va (25%)
/2 (50%)

a2/3 (66%)
vat¥a (75%)

vat¥a (75%)
201l (100%)

Who has tested their cattle for

Which quantitative trait
TLcomplex (multigenic) traits?

nYes I have
anNO

What test did you use?
-+

r=nGene Star/Bovigen/Pfizer
e<nIgenity Profile/Merial

. 17% 17%
e<nMMI genomics

(TruTenderness/TruMarbling)

g More than 1 of the above
Don't recall which test
None

tests have you done?
r=nMarbling/Quality grade
e<nTenderness

garFeed Efficiency

ganSome of the above

34%

ren $0
Ban $5
gan $10
gan $20

gan $50
z<» $100
& >$100

$100

How much would you be willing to
#ay for a marbling test...

>$100



How much would you be willing to Why do you use DNA tests?
TLpay for a tenderness test?

) ) ! 35%
- rzrStrictly marketing

r=n $0 w2 parBetter than EPDs

Ban $5 ganMAS

Ban $10 garImprove EPD Acc.

gan $20
1$50

zan $50-100

& >$100

$50  $50- >$100
100

Who thinks they might use DNA For which trait would most like to see
testing for quantitative traits one an EPD?

‘Fclay?

76% r=r Tenderness

sanMaybe
i aYb g Cattle Health
J;’JUn|Ike|y e Fertlllty 1% 1%

g NEVER! z<n Beef Healthfulness

If there was a DNA test for weaning Is there a value to increasing
weight —would you use it? the accuracy of EPDs?

cz=n Yes = Yes 98%
zan NO =at NO

Production
CED BW WW YW YH SC
Acc | Acc | Acc | Acc | Acc | Acc
146 | 1433 | 1445 | 1483 |1+.1 |1+.19
05 05 05 05 05 05

Cwt Mb RE Fat [CGp UGp
Acc | Acc |Acc | Acc |CProg UProg
1+15 1 +.45 || +44 || +.015

05 05 05 05




CED BW WW YW YH SC CEM Mk MH MW MH
Acc | Acc | Acc Acc Acc Acc Acc A MK Acc Acc SEN
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V22422 448 4006 16
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That is equivalent to having
22 progeny records at birth

+

Number of progeny records required

Low heritability (0.1) Moderate heritability (0.3
1

BIF accuracy

How much would you pay for a DNA test that
increases the accuracy of a yearling bull WW
+EPD from 0.05 (i.e. parent average) to 0.9?

39%

rat $0

st $1-10

et $20-50
. $50-100
n $ 100-200
. $200-500
. >$500

$2050 $50-100 $100-200 $200-500 >$500

How much would you pay for a DNA test that
increases the accuracy of a yearling bull WW
+EPD from 0.05 (i.e. parent average) to 0.4?

rat $0
st $1-10

< $200-500
-\ >$500

S0 $1M0  $20.50 $50-100 $100-200 $200-500 >$500

How much would you pay for a DNA test that
increases the accuracy of a yearling bull WW
+EPD from 0.05 (i.e. parent average) to 0.4?

45%

$2050 $50100 $100-200 $200-500 >$500

For which trait would an increase in
accuracy have the greatest value?
r=n CED

2 BW

=an WW

g YW




Which breeding practice is more
valuable to commercial producers?

+

] 58%
r=rSelection M

earCrossbreeding b
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Which current/past BIF president was
observed to be in standing heat at this

conference?
89%

r=rJimmy Holliman
e<rDave Nichols
BetTommy Brown
garBrian McCulloh




